OO0 ITAOO No. 6

60 11000
ooooo oo

8 Hogu

81 DO0OU0OO

0000 RYNODODODOOOOODODODOO0OO00000000000O0OODO. 000000000000
oboooooo,bo0ooooboboocobo0oooobooboobo. coboobobooobooboooan
ooooobooboooboooboo.booboooboooboboobooooboobooobooooon
ooooooboo.oboboooboobooooobobooooobooo.

00 81 XOOOOOOD.20000d: XxX—ROOO0O00 (metric function) 00, 00 3
0000000000000.000 2,4,2€X0000,

(1) (OO0)d(z,y) =0

(2) (000D) d(z,y)=0= 2 =y;

(3) (OO0) d(z,y) = d(y,z);

(4) (0000D) d(z,y) <d(z,2) +d(z,y).
0000,0 (X,d)0ooooooo.

gbooooobobooooo,0oboobooboooooobooboooo,0ooo00obooooaon
goooooOoOoOoOoOoOOOOO!O0O0O0O0oooooooooooooo.

00 110 (1pt) (X,|-])000000000. d(z,y):=|lz—y|0000000000000.

00000000000000000, RY,|-[,) 0 (Cla,b],||-],) 0000000000000
000000000.000000000000000000000.

00 111 (1pt) (X,d) 00000000. AC X00OO0O, 00000 da:AxA — RO
da(z,y) ==d(z,y) 00000, (4,dy)0000000000000.

00000RNOOOODODOOOOO0OOO0OO,00000000000000000000000
0.0000000000000000000000000. 00000000000000. 00
000 ZzZ0OROOOO0OO0O000000000000 (d(z,y)=|r—y000), 000000000
00.p000000.02€z0,00000000000z=p",y0p00000,00000
000.0000 |e,:=1/p"0000. 0000 |-],:Z—ROp000000 (000 |||
ooooooooon).

00 112 (1pt) p000000D00000DO0OO0.
(). [z +ylp < max(fzlp, [ylp),  (2) [2ylp < |2lplylp,  3). [ —2lp = [zlp,  (4). 0 <zl <1.

00 113 (1pt) dy(z,y) = |z —y|, 0000, (Z,d,) 0000000000000

oooobozobooooboooooogoo,b0o0oboooboooooooooboooooog. oo
gboboobooboooobobooooboooboog.



od 114 (lpt) RxROOODOOOdOODODODOOODOOODOOODOODO. z,yeROODO.
(V). dzy) =z —y, (2. da,y)=[2* — 32|, (3). dle.y) = |f(@) - Sy (/OO00OD)

gboooboobooboobooboobobobooboooboon.

00 115 (1pt) (X1,d1), (X2,dz) 00000000, 0000 Xy x Xo 00 20 7 = (21, 32),
y=(y1,42) 0000 d(z,y) := di(z1,y1) + da(z2,y2) 0000 0,d000000000000C0O.
0O (X;xX.,d)0OOOOOOODOO.

82 00O

0000000 RNOOOODOODODOOOOOOOOODOODOODODOOOOO. 000000000 O0Q,
gboboobooboobooboooobooboo.oboooooboon.

00 8.2 0000 (X,d)000 {z,}ney0000000000000.

e {z,}nen000000000,002z€X00000, lim d(z,,2) =0, 00000000

e>00000,00 NeNOOUDOO,0O0neNONOOOOODOO d(zp,z)<el0OO
gooooooo.

e {z,}nen 00000000000, lim d(@m,z,) =0, 00000000 ¢>00000,
m,n— oo
00 NeNOOOOO,O0O0 mneNONOOOODOOO d(zm,z,) <e0O0O000000
ooo.

o {z,}nen 000000000, 000042, | neNyCcXO0OOOOO, 0000000
M>00000 :00000,d(zn,2) <MO0O00neNOOOOODOOODOOO.

00 116 (1pt) DOOO0ODOOOO0O 10000000000,
00 117 (1pt) DOOO0O0OODO0OOOOODOUOOOOO.
00 118 (1pt) DOOO0DODOOOODOOUOOOO.

00 119 (1pt) 00 1130 (Z,d,) 0000,00 2, :=1+p?+---+p>" 00000000, 0
0000000000 (cf. OO0 40).

00 120 (1pt) 000000 (X; x Xo,d) 0000, (an,by) — (¢,0) 000000 a, —» a0O
b, »b00000000000000DO0.

8.3 UO0OO0OOOO

gbooobooobooboobooog.

00 (X,d)0oo0oO00oo0.0zeXOr>00000,00 XOODOOOOOOO:
U(z,r):={y e X |d(y,z) <r}.

00 U(z,r) 0000, 00 2,00 r000 (open ball) D00 .

gooo,0b0obooocobobooooobon.



00 83 0000 (X,)0000O0 ADODODOUODOOUOOOOO (openset) D0O0OODO:
0000 AOO0zO00000O0r>00,U(z,r)CcAOD0OODOOOOODOO.

00,00000000000000.
00 84 0000 (X,d00000 ADDDD A°000000000,AD0000000000.
00 121 (1pt) OO0 B(a,r):={y€ X |d(y,2) <r}000000000000.
00000000,0000000000000000000000.

00 122 (1pt) 00000000000, 007.20000000000000.

00 123 (1pt) O0O0OO0OO0OOOOO,00740000000000000.

goo7s00000000.

00 124 (1pt) OOOOO0OOOOOO 750000000000O00000OODOOO.

84 UUUUUooon
obooooOoboobooobobooooobooobo 20000000,

00 8.5 (X,dx), (Y,dy) DODOODOODODO.

e U0 f: X -YOOUOO (sequentially continuous) 00, 00 «, — 2 000,000
flzn) — f(zx)0D000DOO.

e 00 f: X -YDOO (continuous) 00,00 U CYO YODOOOODO,00 fFYU)cX
0000 XOooooooobooog.

ooooooo,lim00OObOOOO0O,
lim z, == lim f(x,)=f(z)(= f( im z,))

oooo0. 0000 f0 lim000000OQCO00ODOOO,00000000. 0020000000
gboboobOoboooobobooobooboobo.obooooobooooboobooooooDo.

o0 8.6 DOObOOoOOoOoOOoOOoOoOOobon.
gboooboobooboobobobobob,opbobbobooboobon.

00 125 (2pt) OO 86000.

o0 126 (1pt) d: X x X —-ROOOOOOOOOOOOOOOO.
LTyn — T, yn_’y:d(xnvyn)_)d(‘ray)'

O00ROOO0OO0OO0O0O0D000,000d(z,y)=|zr—y000.

00 127 (Ipt) 00 f:R—RO f(z)=0(z<0), f(z)=1(z>0)00000, f000000
ooooao.

00 128 (1pt) (X,dx), (Y.dy), (Z,dz) 0000000, f: X —Y,¢:Y - Z0000000
00,0000gof:X—-Z00000000000.0000000000000000.

00 129 (1pt) (X,d) 00000, f,¢g: X >RO0O000,acRO00.0000,0 f+g,0
f¢,00000 «f 00000000000,



